STRUCTURAL MECHANICS I: CE 203-02
Homework 7
Key Solution


[image: image1.png]DEPARTMENT OF CIVIL ENGINEERING - KFUPM
STRUCTURAL MECHANICS I

CE 203 - 02 & 03

Second Semester: *02- ‘03
HOMEWORK ASSIGNMENT NO. 8

« SCETIONS 6.1&6.2 Shaear Force and Bending Moment Diagrams for Beams
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1. Draw the SFD and BMD usmg the method of summation for Problem 6.20. ‘ [2«'0]
*6—29 Draw the shear and moment diagrams for the beam
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2. Draw the SFD and BMD using the method of summation for Problem 6.26. ! v

= - 6-26. The dead-weight loading along the centerline of the
; , , airplane wing is shown. If the wing is fixed to the fuselage
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at A, determine the reactions at A, and then draw the shear
and moment diagram for the wing.
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3. Draw the SFD and BMD usmg the method of summation for Problem 6.29. [,

6-29. The T-beam is subjected to the loading shown. Dra
the shear and moment diagrams.
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4. Draw the SFD and BMD using the method of summation for Problem-6.30. [ ]

6-30. The boom ABC has a weight of 30 Ib/ft and*is used
. to lift the load of 2000 Ib. Draw the shear and moment
& V\MTM QZQA_L.'LM ' diagrams of the boom when it is in the horizontal position
—4——————— shown.
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+ SCETIONS 6.186.2 Bending Stees n Beams (Analysis and Design)
« DUEDATE: hay 12 3

1. Dras the SFD and BMD using the method of summtion for Problem 629 fixtbeok psge [ 2.6}
250 but with 3 concentrated load of 3]
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